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QUESTION 1

Scenario: A Citrix Architect needs to design a new NetScaler Gateway deployment to provide secure RDP access to
backend Windows machines. 

Click the Exhibit button to view additional requirements collected by the architect during the design discussions. 

To meet the customer requirements, the architect should deploy the RDP proxy through ______ using a________
solution. (Choose the correct option to complete the sentence.) 

A. CVPN: single gateway 

B. CVPN, stateless gateway 

C. ICAProxy: single gateway 

D. ICAProxy; stateless gateway 

Correct Answer: C 

 

QUESTION 2

Scenario: A Citrix Architect has deployed Authentication for the SharePoint server through NetScaler. In order to ensure
that users are able to edit or upload documents, the architect has configured persistent cookies on the NetScaler
profile. 

Which action should the architect take to ensure that cookies are shared between the browser and non-browser
applications? 

A. The time zone should be the same on the NetScaler, client, and SharePoint server. 

B. The SharePoint load-balancing VIP FQDN and the AAA VIP FQDN should be in the trusted site of the client browser. 

C. The Secure flag must be enabled on the cookie. 

D. The cookie type should be HttpOnly. 

Correct Answer: B 
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Reference: https://support.citrix.com/article/CTX209054 

 

QUESTION 3

Which parameter indicates the number of current users logged on to the NetScaler gateway? 

A. ICA connections 

B. Total Connected Users 

C. Active user session 

D. Maximum User session 

Correct Answer: C 

 

QUESTION 4

Scenario: A Citrix Architect needs to assess an existing NetScaler configuration. The customer recently found that
members of certain administrator groups were receiving permissions on the production NetScaler appliances that do
NOT align with the designed security requirements. 

Click the Exhibit button to view the configured command policies for the production NetScaler deployment. 
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To align the command policy configuration with the security requirements of the organization, the _______ for
______should change. (Choose the correct option to complete the sentence.) 

A. command spec; item 3 

B. priority; Item 5 

C. action; Item 1 

D. priority; Item 2 

E. action; Item 4 

F. command spec; Item 6 

Correct Answer: D 

 

QUESTION 5

Scenario: A Citrix Architect needs to design a new multi-datacenter NetScaler deployment. The customer wants
NetScaler to provide access to various backend resources by using Global Server Load Balancing 

(GSLB) in an Active-Active deployment. 

Click the Exhibit button to view additional requirements identified by the architect. 

Which GSLB algorithm or method should the architect use for the deployment, based on the stated requirements? 

A. Dynamic round trip time (RTT) 

B. Least response time 

C. Static proximity 

D. least connection 

E. Least packets 

F. Source IP hash 

Correct Answer: B 

Reference: https://docs.citrix.com/en-us/netscaler/12/global-server-load-balancing/methods/configuringalgorithm-based-
methods.html 
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